LZREE

No.1
BRHRA 2 g B4 | BHE EEHE| #EHE & &
KRiGE# X
BKEMERT |HPPE(EFZO{THRZEE) L=5.00m 75 ¥ 32 160m#1 5% (5%0m)
HPPE(E%) L=5.00m b 75 V.3 4 17.5m# 5% (5%2.5m)
HPPE(EFZ Ot F=ZE%E) L=5.00m ¢ 50 V. 13 62m 7 5% (5%3m)
HIRRVP (B4 ¢ 50 X 16 80m7fi 5% (7%0m)
BERRRHLEE R @50 & 2
HiVP  L=4.00m ¢ 50 P 1 1.0m# §%(5%3.0m)
" 30 P 1 1.8m#E%(5%2.2m)
AHBEE GRUER) @75 % 45° & 4
EF SARUK (%) ¢ 75 x 600H & 1
EFRU K (F52) b 75 x 45° & 2
*AHEIE ¢ RUER) 75 & 1
HiV4 vk ¢$50x ¢30 & 1
HIT LR ®30 1@ 2
BRI —k W=150S m 322.3
HYAFHEL |FHKTEEVIN-MEURFUECER)| @75% @75 = 4 1 H=1200
ANBISUOEERVER) @75 & 1
TS FM 75 & 1
—KBYTr— LR GRUER) 75 H 1 H=1200
tUos=E H=1200 #H 2
HiRg L5 ®50 = 1
HhlHUrytGRIUER) ®50 & 1
HhlHVryt(BEER) @50 & 1
tUoH=E H=600 #H 1
HARRRERETL JHAE @75 == 1
& H=100 75 = 1
AHBTSUCRHEMTEE RVER) b7I5% P75 1@ 1
TSR FM 75 & 2
HARARE H=600 #H 1




LZREE

No.2
BRHRA 2 g B4 | BHE EEHE| #EHE & &

ELRFHRETL |/MELKF OV 25 & 1

YRILFHKEGRUER) $75% 25 & 1

GPFvk b 25 & 1

GPY /b b 25 & 1

raEviryk $30x 25 & 1

INIZER S (v o1T) 20 & 1

YRILfH5KE(EEER) $50% ¢20 1@ 1

GPFvk 20 & 1

GPY /b 20 & 1

raEviryk $25x% 20 & 1

ER[FARYIR ¢$350 H=600 | {& 2
ekUEL fFERI ESREE YN MAT KR GRUEHA) b75% ¢ 20 1@ 8 a7 —KE

" $50x ¢20 & 6 a7 —KE

YRILfH5KE(EEER) $50% ¢20 1@ 4

ISRTaAvb ¢ 20 1@ 4

RUTFLUNRAT(158) 2BE ®20 m 14.0 1.0m X 1444

KEFR-BESBEMT PERTF (EEER) 20 1@ 12 a7 — & (Hi-GN{T)

SKXTJLR (P XP) ®20 1@ 4

HiZJL7R 20 & 32

HivV b 20 & 4

" $20%x p13 & 7
HiVP  1=4.00m ¢ 20 X 3 12.0m#TE%(0.5m X 1248, 1.5m x 44%)
BRI —b W=150S m 18.0 1.0m X 1844




) Por. Por. N
¢ 75 HPPE fd /K & U] & £ OKRGEHIX)
UEE (m) DIHFNTJ
BOEM B R |0 ERE S | I i
&
Z.-1 Z.-2 Z.-3 Z.—4 Z-5 (OO (m)
HPPE 75 5. 000 5. 000 5. 000 1
(=g
HPPE 75 5. 000 1.000 1.000 1.000 1. 800 4. 800 0. 200 4 HPPE
HPPE 75 5. 000 0. 500 0. 600 3. 000 0. 600 4.700 0. 300 4
HPPE 75 5. 000 0. 500 1. 500 1.000 3. 000 2. 000 3 R = 75
HEE|  5.000
i 20. 000 7. 000 3. 100 5. 000 2. 400 17. 500 2.500 11
20. 000 7. 000 3.100 5. 000 2. 400 17. 500 2.500 11. 000




FHE

No.1
RARB E2E g Hf| Z9%E | £EHE R 5 &
KigEHh X
BEKEMEZELT |RUTFLUEREKTL 75 m 1775 160+17.5
" @50 m 62.0 60.0+2.0
E-—IL&EMBET @50 m 81.0 80.0+1.0
" ®30 m 18 1.1+0.7
RUIFLUERFI (REES) ®75 10#F [ O 33
" $50 1O#MF [ O 13
" ¢75 20#F | &FF 3
RUIFLUELIET b75 H 11
" ®50 A 1
RR#FT e ER @50 i 2
RREFT MRS EE @50 a 14 16-2
AN=HIBFT 75 A 13
TS#FT ®50 A 1
" ¢ 30 ] 5
EHRI—k m 3223
WKEER T HRKERE B 0.16 322.3m/2,0008=0.16 5
HUHZHET |TEIKDIEGEEER) d75% P75 =S 1
TSUOMFT @75 A 1
HUFHFRET 75 = 1
" ¢ 50 H 1
ANZAILBFT b75 m| 2
MENOFEERLAAES ®50 a 2
RUIFLUEHRFT ®50 | 2
RERET H=1200 #e 2
" H=600 #e 1
BHERE " 3




FHE

No.2
RARB E2E g Hf| Z9%E | £EHE R 5 &

HAKRERET [HARHRETL 75 =S 1
ANZAILBFT b75 m| 2
TSUOMFT @75 A 1
RERET H=600 #e 1
BHERE 1@ 1
ERAREL [ERAHRET @25 B 1
17 ¢ 20 H 1
YRILHDKRFET RIER d75% 25 & 1
YRILAKRFRETL IBEER ¢ 50 % ¢ 20 & 1
MERLCAAT $32 | 1
" ® 25 A 3
" ®20 ] 2
RERET H=600 #e 2
BERE 1@ 2
kOB YRILGKRBRETL RIEH @ 75% ¢ 20 & 8
" ®50x% ¢ 20 & 6
YRILAKRFRETL IBEER ¢ 50 % ¢ 20 & 4
MERLCAAT ®20 | 4
RUIFLUEREMNT ®20 m 14.0
RUIFLUEHRFT ®20 | 34
E-—ILEMRT @20 m 12.0
TSHFFET ®20 A 79
" »13 A 7
BRS—k W=150S m 18.0




T I % & %

& L & | #@ B 4 == BRETHME
KizE#h X
BokKEmETL BEWERYE T H=600 | BFE(D 055 m X 0.750 m 1775 m 7322 m3
T TED HEHWIERLT HEFYT| HEO 055 m X 0290 m 1775 m = 28.31 m3
HEWIERLT ¥4+ | BEO 055 m X 0290 m 1775 m = 28.31 m3
BLET 73.22-(28.31+0.9) = 4176 m3
TRERET t=10cm | RC-30 055 m X 1775 m = 97.63 m2
TERET t=8cm M-30 055 m X 1775 m = 97.63 m2
RAsEHEE T t=3cm AL 055 m X 1775 m = 97.63 m2
AEIRAsSHET t=4cm ok ] 075 m X 1775 m = 133.13 m2
AsEHZERR U1 T t=4cm 1775x4 = 71000 m
AsEHE R T t=4cm 075 m X 1775 m = 133.13 m2
RAsSHIE R R T t=3cm 055 m X 1775 m = 97.63 m2
AsEHETHER - n T 133.13 X 0.04+97.63 X 0.03 = 825 m3
g o 0:1() AR YE T H=600 | BFE®Q 055 m X 0.723 m 62 m = 2465 m3
HEWIERLT HEFYT| HEO 055 m X 0.263 m 62 m = 897 m3
BmERLT 4+ | HEO 055 m X 0290 m 62 m = 9.89 m3
BLET 24.65-(9.89--0.9) = 13.67 m3
TRERET t=10cm | RC-30 055 m X 62 m = 3410 m2
rTERET t=8cm M-30 055 m X 62 m = 3410 m2
RAsEHEE T t=3cm AL 055 m X 62 m = 3410 m2
AEIHAsSHET t=4cm Va0l 075 m X 62 m = 4650 m2
AsTlEE kR ] i T t=4cm 62.0 X 4 = 24800 m
AsEHEERR R T t=4cm 075 m X 62 m = 4650 m?2
{RASEHEE R T t=3cm 055 m X 62 m = 3410 m?2
AsEHEFRER - T 46.50 X 0.04+34.10 X 0.03 2.88 m3




T TER HEA R YE T H=600 | BFE® 055 m X 0720 m 538 m 2130 m3
HHWERLT FEFYT| HEQ 055 m X 0.260 m 538 m = 769 m3
HHWERLT 45+ | BEO 055 m X 0290 m 538 m = 858 m3
BRIamET 21.30-(8.58-0.9) = 11.77 m3
TRERET t=10cm | RC-30 055 m X 53.8 m = 2959 m2
FERET t=8cm M-30 055 m X 538 m = 29.59 m2
RAsERET t=3cm FHFL 055 m X 538 m = 29.59 m?2
AEIBAsEHET t=4cm R 075 m X 538 m = 4035 m?2
AsERZERR YT T t=4cm 53.8 X 4 = 21520 m
AsEHEEhRBERE T t=4cm 075 m X 538 m = 4035 m?2
IR AsEHEE R T t=3cm 055 m X 538 m = 29.59 m?2
AsSBEEELERE - 5 T 40.35 x 0.04+29.59 X 0.03 = 250 m3

T ITHE® HEA R YE T H=600 | BRE® 055 m X 0.660 m 29 m = 1053 m3
HWERLT FEFYT| HEG® 055 m X 0.260 m 29 m = 415 m3
HWERLT 4+ | BTEO® 055 m X 0290 m 29 m = 463 m3
KLt ET 10.53-(4.63-0.9) = 539 m3
TRERET t=10cm | RC-30 055 m X 29 m = 1595 m2
TERET t=8cm M-30 055 m X 29 m = 15.95 m2
RAsERET t=3cm FEFL 055 m X 29 m = 15.95 m2
AEIBAsEHET t=4cm BRI 055 m X 29 m = 15.95 m2
CoffiZE Rt T t=10cm 29.0 X 2 = 5800 m
CoffiZE iR T t=10cm 055 m X 29 m = 15.95 m2
IR AsEHEE R T t=3cm 055 m X 29 m = 15.95 m2
AsTHEEFERR- LN T 15.95 % 0.03 = 048 m3
CoffiEFEM - U/ T 15.95x0.10 160 m3




R IE T m m 129.70 130
HHWERLT FEFyS m m m = 49.12 50
HHWERLT HHET m m = 51.41 50
BRIamET = 72.59 70
TRERET t=10cm | RC-30 m X m = 177.27 177
TERET t=8cm M-30 m X m = 177.27 177
RAsERET t=3cm FEFL m X m = 177.27 177
AEIBAsEHET t=4cm R m X m = 235.93 236
AsERZERR YT T t=4cm = 1173.20 1170
CofZ i Y i T t=10cm = 58.00 58
AsTl & IR T t=4cm m m = 219.98 220
IR AsEHEE R T t=3cm m m = 177.27 177
CoffiZE iR T t=10cm = 15.95 16
AsTHEERR B -0 T = 14.12 14
Coffi & E - T 1.60 2




HKEMBRT MR IE T H=600 | Asfit 055 m X 0.686 m 180 m = 6.79 m3 7
HHWERLT HEFYT 055 m X 0226 m 180 m = 224 m3 2
BHIERLT H=600 055 m X 0290 m 180 m = 287 m3 3
KLt ET 6.79-(2.87+0.9) = 360 m3 4
TRERET t=10cm | RC-30 055 m X 180 m = 9.90 m2 10
LERET t=8cm M-30 055 m X 180 m = 9.90 m2 10
RAsEH%EE T t=3cm FR AT 055 m X 180 m = 9.90 m2 10
AEIHAsEHET t=4cm = 075 m X 180 m = 1350 m2 14
AsEHEERR U1 T t=4cm 18.0x 4 = 7200 m 72
AsTl & IR T t=4cm 075 m X 180 m = 1350 m2 14
IR AsEHEE R T t=3cm 055 m X 180 m = 9.90 m2 10
AsEREETEWR -0 T 13.50 X 0.04+9.90 X 0.03 0.84 m3 0.8




